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Mr. Schlansky

Coordinate Geometry Proofs Practice

1. Rhombus PAUL has vertices P(2,6) A(6,8), U(10,6), and L(6,4). Using coordinate geometry,

prove that PAUL is a rhombus but not a square.
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2. Triangle USA has vertices U(4,-7), S(-3,-4), and A(7,0). Prove that trlangle USA is an d MQ’%Z
isosceles triangle. Determme whether triangle USA is a right triangle.
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3. The coordinates of quadrilateral ABCD are A(-3,-8), B(6,-1), C(9,10), and D(0,3). Prove that A
quadrilateral ABCD is a parallelogram but not a rectangle Q
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4. Triangle ABC has vertices A(1,1), B(2,5), and C(6,4). Prove that triangle ABC is an isosceles
right triangle.
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//\ 5. Quadrilateral PORS has vertices P(-2,3), O(3,8), R(4,1), and S(-1,-4). Prove that PORSis a

rhombus. Prove that PORS is not a square.
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Voo 6. Quadrilateral ABCD has vertices A(3,1) B(-3 5) C(5,4) and D(2,6). Prove quadnlateral ABCD

is a trapezoid but not an isosceles trapezoid. A BC D l /) \? :g(/( {)C % O' J /;)Q@f(/’ -)Q,
al

U AN

i iJr ha> Ofosie 5"% |
and | ar/Y o 0 %&/)&5'4}@ LJV
L)'\t” ANEEE LS /)() Q /%%01 ba((/d)el
ST afe %/
. x 2) mDO = %—
nBA = 5="%
nd)= 5
MZ}E: ‘31‘
AdBo=Tet - 550

' Nl
S sl RO
2) oeh Bh Beavxe INy huse o sone
&DMZ oo ey diph . SBR
e ot shie
78 ZE%ZI bf{o{ox U% /[[,ML }Wz Lk

sary, o



7. The coordinate of quadrilateral TACO are T(-4,0), A(-3,3), C(2,2), and O(1,-1). Prove that (\
TACO is a parallelogram but not a thombus. . “‘ (
|)THO is « %MM@ o Doae. |
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8. Quadrilateral-JA€Q has vertices J(2,-4), A(6;2), C(0,-1), and Q(4=7)- Prove that quadrilateral (\ ‘

is a rectangle but not a square. AL‘é 0
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~ triangle.

9. Quad YNKS has vertices Y(3,0) N(6,-4) K(10,-1) S(7,3).
Prove quad YNKS is a ‘square )‘m}{S X a 56\)&/6 bzw ()D( 4.}1@
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10. Triangle MET has vertices M( 8,-2), E(-6,4), and T(-3,3). Prove that triangle MET is a right
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11. Quadrilateral TOBY has vertices T(-4, -8), O(5,-1), B(8,10) and Y(-1,3). Using coordinate F

geometry, prove that quadrilateral TOBY is a
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12. Quadrilateral JUAN has vertices J(-4,-1), U(-1,4), A(4,1), and N(1,-4). Prove JUAN is a

square. Prove Triangle UJN is a right triangle.
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